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SN BHEND
M CND U SN2 FE
el SEEN2 29 (SH9 H2)
SA - BE - C9(3H) - KA - BES Ol &t e B2
OB M2 AZEQ0{(SW) 0K 65,000
OSEEAZ AR2Y =572 82,320
OsEEA2 D2LHI 29 EF7LY S 10,000
02 23244l 1,220,000 1,213,360 6,640
OFEEM2 AldE & JASAEH |X
el S 1,220,000
206 M= 4l 12,960 12,960
01 M=l 12,960 12,960
OSEEAZ AIE2Y 4225 7 12,960
401 AIEHIZ 2018 70,000 50,000 20,000
01 AlEHI 70,000 50,000 20,000
OS2 AIZEE o 70,000
405 KHoHE =S| 210,000 17,000 193,000
01 AL ESH =S| 210,000 17,000 193,000
OsEEA2 SI1E e 10,000
O=stu=Es A4 e 200,000
SN2 S4AXRA 6,077,183 7,417,455 21,340,272
= 857,697
L= 5,219,486
SN2 3 Y 60,000 50,000 10,000
201 et 5,000 0 5,000
01 ArR2eltl 5,000 0 5,000
OsEIT MH2xt TA2 NS E 2
=g 5,000
207 A= IH ] 55,000 50,000 5,000
01 A=A 55,000 50,000 5,000
OSEYE Hext TA2 2HSEAHE 2R
29 55,000
SN2 OH2ZAIR ¢ E 683,277 621,161 62,116
= 683,277
308 KEXIHMSOIH 683,277 621,161 62,116
= 683,277
01 XN BAELS 683,277 621,161 62,116
OS3EAMZ JH2tAIZE HE 683,277
= 683,277
U-EAM2tAHIA SHHAIR 154,000 140,000 14,000
= 154,000
403 XX SHHSKH=01A 154,000 140,000 14,000
= 154,000
01 XEXIEHI A= 2 2 154,000 140,000 14,000
OF-EMZMEIA 25 X 154,000
= 154,000
SN CEStAblA XA 20,420 18,564 1,85




SN BHEND
M CA2 2 SARe AE
=2 A2 SEXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 20,420
308 AtXIEHMSOIE 20,420 18,564 1,856
= 20,420
01 XN BELES 20,420 18,564 1,856
O=AM2 T2t A XI& 20,420
= 20,420
SSEAE SEXE 58,435 51,435 7,000
201 er23 | 33,435 26,435 7,000
01 At2t2ltl 26,435 26,435 0
SAHRESAHHIAIRE 2Y U BBEA
2 UERD 5 8,415
OFELEE MMus & /35 13,770
O33N M2 EXIAL AISHE
=24 4,250
03 A=l 7,000 0 7,000
Osg A1) & AL = 7,000
303 Za= 25,000 25,000
01 Za= 25,000 25,000
OFXIA 215 24 SSEAS 2 25,000
A2A2d SEXE 144,585 144,585 0
201 ger=3| 6,885 6,885
01 At 2|l 6.885 6.885
OH2A2 2SN W H UERD A5 6.885
308 AFAIEHMSOIH 137,700 137,700
01 AXH B2 LS 137,700 137,700
OX2EAZ Itz7Y & SA2e Z27]
8 s 1 137,700
SHANEAZ 28 N 243,466 232,710 10,756
307 el2to| & 243,466 232,710 10,756
10 Al SAAEEHE 22X 231,316 220,560 10,756
OSHESEENEAS 248 K& 222,340
OSEEE N A2 SAEL X200 8,976
11 AMRISXAEEES 12,180 12,150 0
OSHEEN=NE SAZS UEAE 12,180
BB A2 A X (HEALY) 4,601,000 0 4,601,000
403 X SHHMSAH=01H 4,601,000 0 4,601,000
01 AXISHHA =2 & 4,601,000 0 4,601,000
OlAZEEMS S5 801,000
Otz A2 A 2,000,000
OMttsed A2t 2E 1,500,000
OO0t T3 SESE=A2 28 300,000
A2 HZ XJ(HEALY) 112,000 0 112,000
403 MR SHHMSAH=01H 112,000 0 112,000




SN BHEND
Hu: CND U SN2 FE
=2 A2 SEXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AR A =2 £ 112,000 0 112,000
OH2EMZ =4 112,000
SNES AS 78,248 78,248 0
SN2 2SN 47,593 47,593 0
201 er=23| 9,520 9,520 0
01 At2teltl 9,520 9,520 0
OAtA Sa2 SAHO0HIE 23 9,520
308 AFAIEHMSOIE 25,680 25,680 0
01 HASHHBSEXS 25,680 25,680 0
OSAHAT 29 o =4 T2 SATA(
Had - 0=2l0l) 12,000
OsAsotel 28(SALs & Z208 X
) 4,500
Ozl thet SAEZ08 2HAE 9,180
403 AXIEHMSA=Z01d 12,393 12,393
01 MXIHHA 22X 12,393 12,393
F(YLR) HE TN 2 7,803
O0el0l SASE 22 4,590
SEEsIFA IEs X 30,655 30,655
201 er23 | 20,655 20,655
01 At2teltl 20,655 20,655
OEE 2atr4t HE oEA 8& 6,885
OUE Qlz2st Il 2 13,770
308 AHAIEHMSOIE 10,000 10,000
01 HAHHBSEXRS 10,000 10,000
OEE =3t s 228 23X 10,000
HY2EIHI(SE=MR) 2,044,590 2,022,870 21,720
H2AH(SEE M) 1,934,385 1,917,960 16,425
QI 2HH(SETAR) 1,934,385 1,917,960 16,425
101 @12A4H| 1,885,065 1,872,660 12,405
01 2 1,156,386 1,148,947 7,439
oJlzs 880,117
O=¢ 164,443
OFSELI=tla] 36,960
Og &=l 55,564
O ItE 4| 19,302
03 SRA(RIH )22+ 728,679 723,713 4,966
ORIzl 24 728,679
204 MPo=AH| 49,320 45,300 4,020
02 M= 2xH| 49,320 45,300 4,020
(OFS= LB 49,320
J23HI(SEEMZ) 110,205 104,910 5,295
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